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b) Sclve the mequality/4- (x +2)>12

S x+2>3 QT
Q‘XM le [2]

c) Represent the solution set that satisfies both answers to parts (a) and (b) on the

number line. l

S I | n | l 1 | for
g 1 2 3 4 5 & 7T 8 9 10 11 12

(1]

Inequalities {H & F) - Verston 1 january 2016

D Justiiaths
Inequalities (H & F)

A coilection of ©-1 Mat ths GCSE S Sample and Specimen guestions from AQA, DCR, Pearson-Edexcel and WIEC Edugas.

Name: @ﬂ ﬂ@f/JJ
Total Marks: -

1. Solve 5x -2 > 3x + 11 -
3"( T, O

' L)
2 > 13 )+2
2 'lC; x> 47 [2]
2. (a) (i) Solve,

S5x 4+ 1 >x+ 13

—X(, U > 13 =T
G 4ax >12 2l
G x>3 34

......................................... [3]
(ii) Write down the largest integer that satisfies 5x - 1 < 10.
Sx <1l
b= Sx=lo, 10<Y
(1) oo cl .................. 1]
3. Circle the inequality shown by the diagram.
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-7 < x <6 —7 < x «6 -7 K x L6
v [1]
. : 3x . 9 ~ 7 ) o }
4. a) Solve the inequality - < ____‘_'hsf, _3 S| 2
x<f 73
[2]
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